Algebra - Einfaldadu Deaemi

9.

Svigar 2
2(2x — (x — 1) + 3)
3—Qx+(x—1)+2)
4(x — 2x +2) — 1)
5+Q2+2(y—1)+4)
2y —3(x+1)—1-13)
2x — (x+2)+ (x — 1) + 2)
3 -+ -D-Kx+2)-1)
44 2z—(z—1)—(z+2)+3)

200+ (1—-y)—-A—-y)—vy)

1004+(x—(x—1)—(1—x)+x)

Betra nam, Kjarna, Mosfellsbze. Allur réttur dskilinn
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—(4x +3(x +3)—2)
5—2(3+2(x— 1) +5)
20:5—2(x — (2 — x) +x)
(3z + 4(1 — 22) + 45:9)
7—=Qy+(y—3)—6+3)
2(3x +2(x — (4 +y) +5))
3—(2z-3(z+ (@ —-3)-2))
4+ 2x— (- Q2x+1)+7)

2+ (y+2—-—(1—-2)+3.2))

20.-5— (z— (3+ (2 — 2) — 27:9))

Betra nam, Kjarna, Mosfellsbze. Allur réttur dskilinn



